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X7 HAE(E ML ADFHEEITIEE &, €L L134EE0H L1837 DS
—REm 100Bg/kg BERELXRLTHET ZRENSY. ThENORETEREDELEET
K 10Ba/kg S8, TROHEXTTVET.
=S 50Bq/kg BEEESYL134Matb, LY L137THALBOBE DA EHE.
ILERAER 50Ba/kg (a+A) =y (bxb+BxB) EHYETS,
O@6F1HANS6 A0 FCHREZERLI:-EAFORSHERE XERHERAREHSAEMCAEL-BRSE)
B R (Ba/ke) TBEY
No. |JRIZER FREUIS P BIE CS134 CS137 ast HE
BIEE BHBR BIEE RHRA CS134+CS137 BA | (Bake)
1| 6/1 [ILBARFEKRTE INFH ND ND 100
2 | 6/1 [FHFFHFE A4 ND ND 100
3 | 6/1 [FHFFHFE A ND ND 100
4 | 6/1 |FHHEFHA INFD ND ND 100
5 | 6/2 [\LEREFELEE OxHAE ND ND 100
6 | 6/4 [EZERT/INAER INFY 16397 =+ 567] 169.64 | 100
7 | 6/7 [FIRHBR f=FDc 909 =+ 2.27] 11.36 100
8 | 6/7 |dtHEFHERE A ND ND 100
9 | 6/9 [X& A ND ND 100
10 | 6/9 [[REFHE A 799 =+ 3.00] 10.99 100
11 | 6/9 [KBFE/RN Sy HAE 250 =+ 191 441 100
12 | 6/9 [KBFE/RN FrAy ND ND 100
13 | 6/10 | FEEFER Cohilrg ND ND 100
14 | 6/10 | FEEFER 1ZA1Z< ND ND 100
15 | 6/11 [EEREFHF A ND ND 100
16 | 6/11 | EEEFHE AyF—= ND ND 100
17 | 6/14 [FFEF TFILRE E7 ND ND 100
18 | 6/15 | KBRFFT Cohilrg ND ND 100
19 [ 6/15 |HHFFTE AT A 419 =+ 304] 7.23 100
20 | 6/15 |HiIR X4 ND ND 100
21 | 6/15 |dtEFHH ED ND ND 100
22 | 6/16 |dLEFHA ED ND ND 100
23 | 6/16 |dLEFHA 7% ND ND 100
24 [ 6/17 |[AtBFFHEE ED ND ND 100
25 | 6/17 | E/MEFdL —>=5 ND ND 100
26 | 6/17 | E/MEFdL AIRE ND ND 100
27 | 6/17 | E/MEFdL A ND ND 100
28 [ 6/17 | KBFE/RN AIRE ND ND 100
29 | 6/17 | KBFFT A ND ND 100
30 | 6/18 | LEEFhE FayY) ND ND 100
31 | 6/18 | LEEFhE AIRE ND ND 100
32 | 6/18 | LEEFhE Sy HAE ND ND 100
33 | 6/21 | E/hg=Fd)IlR E7 829 =+ 298] 11.27 100
34 | 6/21 |\LEEFFEE E7 6.46 =+ 189] 835 100
35 | 6/21 |ILEFEFFEE E7 ND ND 100
36 | 6/22 |[AtEF TR A ND ND 100
37 | 6/24 | L/MEF =T A 307 =+ 132] 439 100
38 | 6/24 |RIRFHGBA — = ND ND 100
39 | 6/24 | KBFAER A ND ND 100
40 | 6/25 |[dtEF T ILR =P ND ND 100
41 | 6/28 |dtEFHH *a91) ND ND 100
42 | 6/28 |dtEFHH F—<y ND ND 100
43 | 6/28 | KBRFFT A4/ 580 =+ 2.09] 7.89 100
44 | 6/29 | KBFE/N FTR ND ND 100
45 | 6/29 | KBF=E/HN AT A ND ND 100
46 | 6/30 | L/MEF TN A ND ND 100




